STAT 3309 Quiz 6—chapter 7
Suppose we randomly select a sample of size 36 from a population having a mean of 20 and standard deviation of 4. Find the mean and variance of the mean of the sample. Decide if we can use normal distribution to approximate the mean of the sample. If it possible, please find P([image: image2.png]
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Your lumber company has bought a machine that automatically cuts lumber. The seller of the machine claims that the machine cuts lumber to a mean length of 8 feet (96 inches) with a standard deviation of 0.5 inch. Assume the lengths are normally distributed. You randomly select 25 boards and find that the mean length is 96.25 inches. Assuming the seller’s claim is correct, what is the probability the mean of the sample is 96.25 inches or more?
In an article in the Journal of management, Joseph Martocchio studied the costs of employee absences. Based on a sample of 176 blue-collar workers, Martocchio estimated that the mean amount of paid time lost during a three-month period was 1.4 days per employee with a standard deviation of 1.3 days. Suppose we randomly select a sample of 100 blue-collar workers. Based on Martocchio’s  estimates: What is the probability that the average amount of paid time lost during a three-month period for the 100 blue-collar workers will exceed 1.5 days?

